 EQ \f(a;a-b)-\f(b;a+b) = EQ  \f(a\b(a+b);\b(a-b)\b(a+b))-\f(b\b(a-b);\b(a+b)\b(a-b)) = EQ  \f(a\b(a+b)-b\b(a-b);\b(a-b)\b(a+b)) = EQ  \f(\b(a\s\up8(2)+ab)-\b(ab-b\s\up8(2));\b(a-b)\b(a+b)) =
= EQ  \f(a\s\up8(2)+ab-ab+b\s\up8(2);\b(a-b)\b(a+b)) = EQ  \f(a\s\up8(2)+b\s\up8(2);\b(a-b)\b(a+b)) = EQ  \f(a\s\up8(2)+b\s\up8(2);a\s\up8(2)-b\s\up8(2)) 
 EQ \f(4-a;a-3)+\f(2a-5;3-a) = EQ  \f(-a+4;a-3)+\f(2a-5;-a+3) = EQ  -\f(a-4;a-3)-\f(2a-5;a-3) = EQ  \f(-\b(a-4)-\b(2a-5);a-3) =

= EQ  \f(-a+4-2a+5;a-3) = EQ  \f(-3a+9;a-3) = EQ  -\f(3a-9;a-3) = EQ  -\f(3\b(a-3);a-3) = EQ  -3 
 EQ \b(\f(a;b)-\f(b;a))\f(3ab;a+b) = EQ  \b(\f(a\s\up8(2);ba)-\f(b\s\up8(2);ab))\f(3ab;a+b) = EQ  \f(a\s\up8(2)-b\s\up8(2);ba)\f(3ab;a+b) = EQ  \f(3\b(a\s\up8(2)-b\s\up8(2))ab;ba\b(a+b)) = EQ  \f(3\b(a-b)\b(a+b)ab;ba\b(a+b)) = EQ  3\b(a-b) 
 EQ \f(7x\s\up8(2);3-x)\f(x\s\up8(2)-9;14x\s\up8(2)) = EQ  \f(7x\s\up8(2)\b(x\s\up8(2)-9);\b(3-x)14x\s\up8(2)) = EQ  \f(7\b(x\s\up8(2)-9);\b(3-x)14) = EQ  \f(7\b(x\s\up8(2)-9);\b(-x+3)14) = EQ  -\f(7\b(x\s\up8(2)-9);\b(x-3)14) = EQ  -\f(x\s\up8(2)-9;2\b(x-3)) =

= EQ  -\f(\b(x+3)\b(x-3);2\b(x-3)) = EQ  -\f(x+3;2) 
 EQ \f(x\s\up8(2)+10x+25;x\s\up8(2)+5x):\f(x\s\up8(2)-25;x\s\up8(2)) = EQ  \f(x\s\up8(2)+10x+25;x\s\up8(2)+5x)\f(x\s\up8(2);x\s\up8(2)-25) = EQ  \f(\b(x\s\up8(2)+10x+25)x\s\up8(2);\b(x\s\up8(2)+5x)\b(x\s\up8(2)-25)) =

= EQ  \f(\b(x+5)\b(x+5)xx;x\b(x+5)\b(x\s\up8(2)-25)) = EQ  \f(\b(x+5)x;x\s\up8(2)-25) = EQ  \f(\b(x+5)x;\b(x-5)\b(x+5)) = EQ  \f(x;x-5) 
